2095 S

1. T EHRE (JFBEELEN—X) B %
202152 #A
3 4 5 6 7 8 EH 9 10 11 12 1 2 T8 | 25t
&5 -37.5| -80.8| -66.9| -9.8| -17.8| -23.3| -41.3| -20.1 -38.7
BE7F & -41.4| -87.6| -75.3| -13.7| -23.0| -28.1| -46.9| -25.6 —44 4
=r= | (21F)
&t BETFIE 41.9] -89.2| -78.1 13.8( -24.2| -28.4| -48.1 26.9 45.5
(EEE) ' ' ' ' ' ' ' ' '
B 77 IS
-40.5| -84.9| -70.1| -13.6[ -20.6| -27.5| -44.8| -22.8 -42.2
(F CJE)
&5 -36.3| -79.2| -64.9( -7.6[ -16.2| -23.0| -39.8]| -18.3 -37.2
BETEE
K -40.3| -88.4| -77.4] -10.5| -21.9( -27.5] -46.7| -24. 4 -44.0
UTE | e
BETFE
-40.5] -84.9| -70.1| -13.6] -20.6| -27.5( -44.8] -22.8 -42.2
(F CI&)
&5 -46.1| -92.3| -80.4| -24. 4| -27.2| -25.3| -51.0| -32.2 -48. 8
Y3ty b e
e
. -48.8| -92.4| -80.8| -26.0[ -32.0| -32.1| -53.6] -37.0 -51.6
(EEE)

XEAFIE AT E oL AEFTRELTWVDIESR, BLEBREEEIBRFENSKRLTVET,
X ERBIEX R PAGFERIERZBELTEY . EREZAVTEYET,

2 & #H
B () BIEELE (%)
£ & 1,615 -2.8
3 5 OH
20/28 B 5t | DOHEREETE| 21/280 85t [DbERER
GIESENE R 121 — 122 —
HTE |FHHREEHR 5 0
EE B OE 4 2 3
i 122 -2 119 0
GIESENE R 90 — 92 —
#HTE |FHHREEHR 5 3 2
FC B OE 3 3
it 92 3 91 0
GIESENE R 51 — 54 —
atyh R HEIEHR 6 4
EE B OE 3 2
it 54 0 56 0
AIEARIE SR E 172 — 176 —
EE FHREER 11 0 4 0
&t B B % 7 2 5 0
i 176 -2 175 0
ATEARIE SR EL 262 — 268 —
s FREE# 16 3 6 0
R B B % 10 D 8 0
it 268 1 266 0

KIFEX IRUVAV XL ayT[FatyMIEHTEYET,



